\

g
T3
iy
g%
I

1. ¥4
EHL WD = 7 = A FERME IR 3% FHth 3675
BT AT HBBRARTHRE3THESEL 15 (BEREHEFEIT

2. ¥HENRE

1) FHEI4

2) JEATHIM

ZRREDEFGHT
171 HE H
=

SFn T TH 9A
S 1912 26H

3) WErEMA

4) EHBNE

EtrEE T R



BN

Tl
P

=
=

B | WD =T T = A FEME IR F RS ER i EHES
H H ERERE
B E I % i 3 B {7 # & #A AW BN RR
JE H R =X 10, 363, 507
TE R =X 3,408, 148
B AR R =X 3,408, 148 | EMFEAME ERRE
0.4 )1 (km) =
TE R E ERR G
0.2 )1 (km) =
T8 A RIMRF DMk E = 2,389, 210
JH R BITRE OfthEkE = 2,389,210 | AZ7 i PR Ht g% SRR 5T
2 & AT
A7 R IRt R R &
3 ST
AT A 7 AR BT = 1, 404, 752
VA AT AR R N 1,404, 752 | “FEifi AR TR
1 & AT
#E N 1/500
AR 7% AR
1 ST
EARSL RIS E E = 3,161, 397
AL EE RS E5 R oy 3,161, 397 | EHRILRIEEEME Bkt
1 =
3@ = 1, 028, 820
il GREFED) =X 1, 028, 820
FTaws = 802, 250 | T4+
1 =
BICRHE BT S E ik
-1 - [E 238 T s i



Tl
P

=
=

B | WD =T T = A FEME IR F RS ¥ Hi HEHED
H H d5m
B E I % i 3 B # 4 B A BN R
1 =
ZF Dt = 91, 150 | A [FIE A
1 B
FRAT AT B T L D iE
1 B
2 BR Bl SV E R =X 135,420 | ZABHRCE AL VERR
1 ¥5%
[ERETES = = 528, 633
RS = 528, 633
ik A = 70,633 | ikt (FFE - fEiAE)
1 =
%%E}Z%lﬁlﬁzﬁk% it: 458, 000 %%Eﬁ%%f’?ﬁi%
1 =
EEFEM (ZOfthFEMmpR<) = 11, 920, 960
Z DAt 5 = 6,037, 478
— N E B = 9, 661, 562
SRS oy 27, 620, 000

EtrEE T R



